1
<0

—

=
[=)

£ S1210f| CHFS O A| A7t

| 2.0mg/dL O]

Elx

S (v,

FAIE (CRASH study) ZIfOl|A] LIEH ot 20| S50

OlA
oo

Tf, 0|22 SOfur2 BA{OYA|A ¢

(o-K=1
M2

QUCH.

(o] Jo)
LS

=R

T 1,18).

o)

<
=]

C{eTH 2

O 37}t

=
=

it
3n

FX

1o

Aol &

oy
0|0

2. Cf

o

JJ

W
il



w1

|
1o

u

ch

2|
(=

ot

—t
[e)

oj

60

ol
M

10) =Hs

o)

Kl
%

17) =

e
_._m._

&

ol

ol

!
i

o)



[l

s Y=

=
o

. Z2E|FO0|E EA| ALT, AST, ALP

3) &b (A

O] LtEte &~ ULt

o
==
I

X

1ol

OfLt B}O|=2{£0f o5t +2f 2

pralng
o o

’

¢
(=]

oo HI|HOR HAE

A| ZHO| 4| AL

5
o

7|

’

4R

=
S

3

=]
=

Al
(]

’

Ar

10) 7|EF . 2

o

<

iy

=
1o

1!

ol

160
m

8o
~d

3

24 UL Y715

EAS

WAL A

__o_l



T2E|R O|S8H|7 &4

22|
o =2

HOF StCt.

NEEER T

Ql
=

UL

SRS

240] 2]

apAet

q

tZle s

EA=1

OfOFf BtCt.

)

3'.2' ot

| oY gs=

J|El2!

Si2p=

o
[

o

3

=

30| g4

=
=

6) T2E|T0|Z9| A}

f

siC

S|

ol A2 S

|.

S
—

BR0llE AP0 4 &

FAH500mg=S 10= 0|2

4 OH
i

0

&J

—r—
1fe}

207}

=
[

o)
<H

Mo

@

| SICF.

2+ R
[= e

t=A 0| vt

[

0] 250mg= z2te Mo = H0{= 302 0ol 2H £

j

A= Of2] 2efst

9|

Aot H2|(MMS712] AHE )01l T

HHE 2HEHZ

EE 1Y

3|
o

8) Y71 A=Al £

ol 5

9) HAAA A E FHHE?

=

5|7 of

=
=

20 =

t

S|
—

| 2019 F2 0[2]

ol AMo| Q
ML O
&l 3Y-10Y0|W 4~5Cf

20

=

f

0

1)

o
__|ot

(o)
=

ol

S

AE0| e,

E

ol

<I

Hto[ 2



ol fE 2o

=
[

SHAl A7

NP
—

o3
<
Hu

i
1o
U

X

od
&r

M

2 et}

= UG

<

__OE

Jfst

=
[

IH[OFEIZ LA 7t

Ct
=]

il

HOF ST

5|

M FolZA 2UEE

)
ol
il
1l

0:)
__O._

<0

, (ot

L=

IES=E R

’

(H:=Bt2H[E), HLEQ!, 2|3 T4, 7t2B0tA T, Z2|0|=, 0

o
=

k

o
2

1) BIEBIEA

i1

HAle] 39 Z2E[Z0| =2t HEFN0]| 2|5

2g%s

00

s

H=E2

=3

Al2l), zE(24l B, 7t

=
—

3) Ol =A|(ZEEZY Ol=A|

4) AO|22AR2IN HEFOA| A2 2L



5) HIAHZ0|EMH &

ct.

__O._
ol

NF

SFOAl

L= SROEIARQL HEA

_Z_:
A
8) H|AHZ0| =8 A%A

6) =L}

o)

U

Of ALH).

]

o)

S

|2

2L T, ASrS)oto| HEo|
423

’

[

oll2| A=20}0]

Cl
=,

A5t02 8

b

UCHUES 2712

H| 2

0]Z,
SsE7t

=

[ex

AE

FYUA| (00| 2LtHE, B AT|et0]

= %4=(0t

AN

o]

&0

3

S
—

S

b

12) O|AL|OFR|EQ HEEO|A| 0| AL|OIR| =9
13) LIOIEHE 2 FEFOA| AT E2]

16)



7t, Efote] k|

=
S

, 210| of /I S92

2

20| 211k[0] 204 EfOrS] &4

HFAH R
a

]

%EO

ZolM 713

1) s=2

Of

ol

oj

£

5t

8. 2-0t0f CH

17t BI7tFH 22 LiEt

T o Y%

710M 5

A

g

Z-
S

1) 20t

FC}

HEOlA|l 5] Fo| ¢

5}

bz A8, O|Lf EE= 1|

ol

10. 7|Ef



